il’(am Series: [ 6. 16. 19. 10. 12.], erreur Mk 0 = 413.495631126T6r(n)p Series: [ 6. 16. 19. 10. 9.], erreur Mk 1 = 451.911387791
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il-'%n? 96362Temp Series : [ 6. 16. 19. 10. 13.], erreur Mk 3 = 494.9669
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Temp Series : [ 6. 16. 19. 10. 1.], erreur Mk 4 = 501.668125366Temp Series : [ 6. 16. 19. 10. 11.], erreur Mk 5 = 511.720369791
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fargp Series: [ 6. 16. 19. 10. 3.], erreur Mk 6 = 532.1684516831 Temp Series : [ 6. 16. 19. 10. 7.], erreur Mk 7 = 533.8065446
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Temp Series : [ 6. 16. 19. 10. 8.], erreur Mk 8 = 539.096990855Temp Series : [ 6. 16. 19. 10. 14.], erreur Mk 9 = 549.3292
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